A student jumps up with an initial upwards velocity of
6.0 m/s and lands on a 1.5 m high platform as shown.
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a) What maximum height does he reach?
b) How long is the student in the air? Solve in two or more
ways.
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When is the moving in negative direction?
What is the acceleration at 50 s?

What is the total distance travelled?

What is the total displacement?

What is the average velocity over the 60 s?
Sketch the displacement vs. time graph.
Sketch the acceleration vs. time graph.



A car starts from rest and accelerates at 2.0 m/s2 for 10 s. It
then stops accelerating and travels at the same velocity for
20 s.

a) What is the total displacement of the car?

b) Sketch the displacement of the car vs. time.

c) Sketch the velocity of the car vs. time.



A car starts from rest at a stop sign. It accelerates at 2 m/s?

to a speed of 50 km/h, then travels at a constant speed and

finally slows down at a rate of -3.5 m/s2 for the next stop

sign.

a) Sketch a qualitative velocity vs. time graph.

b) If the total driving time is 20 s, what is the distance
travelled between the two stop times?



Alan sprints at the end of a bicycle race to clinch victory. He
starts with an initial velocity of 12 m/s and accelerates at a
rate of 0.6 m/s? for 6.5 seconds.

a) What is Alan's final velocity?

b) Alan continues at this velocity until the finish line. If he
was 291 meters from the finish line when he started
accelerating, how much time did he save by
accelerating?

c) Bert was 10 m ahead of Alan at the time Alan started to
accelerate. Bert was unable to accelerate, maintaining a
constant speed of 12.3 m/s. How much sooner did Alan
finish compared to Bert?

d) How far ahead was Alan when he crossed the finish
line?



A student jumps up with an initial upwards velocity of
6.0 m/s and lands on a 1.5 m high platform as shown.
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a) What maximum height does he reach?
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b) How long is the student in the air? Solve in two or more
ways.
MmyiHdod 1° ONT sTE P , REQUNLES QUACRATIC Teamulda

\ e
N Vi = +6.-0VV/s J=\l;‘(', -&-z_e.‘['. 2
a==-99"/s2 §=6% ° 4 (-a3)¢
U
c +[Swm (.S = ¢ -ua-
e ot ook LR e
o b C o
= -G6)L [ (-e)* - 1LhaXLs)
RePrEsenNTS THE t ‘l

Tme THE STUOSNT 2(4.9)
REACHES (S m oN N\
THE wWeY «p = 0.350g, |0.87'%s




METHeD 2: TwO g EPS 5 goLVE  For Vi Fi31

§ V= 460"V V_pz-: v+ 2ad
s - wA 2 —
a 9.8*V/s =iﬁr,"*2,mk
d= + 1LY m 3
Ue=z T s 4 \[(C.O)"-‘ZC-‘!.8)(IS)
9

= : Z.S? n/s -’62.??'“/5

THE STUOENT witt &€ MoviNG dowNWwaes) ./
WHEN KE LANDS on THE  PLATFaRM

U.(.: V; 4 q,'E
-V  -23%F-62

t= == =z

=|0.83F4% s

METHOD 3: Two  Paats , Goi~G we /pow A

GoING uP- o '
<&
4 V= +6.0"Ys )(’r"‘“‘v‘“ o
= -A.8WM/s2 = T =2 -
) t a -9.9 O.612s
t=7°
CornG DownJ: o
+ = {.'.4.' =
Vi'-a J-" ( 2 S
= =0.3% wm o T T-OZ‘ZS
- 9

L, 44, = 0.612 4 0.262 0.83% s

oo



v(2)

80

Yo

o

=1

/o6 20 3o Yo 50 ¢ t(s)
-4Yyo _ i
_so - :
a) When is the moving in negative direction?
Ls nTCATIVE ELOC Ty s)
lf0 - 60 (RELow HoR12onTAL AX!

b) What is the acceleration at 50 s?
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c) What is the total distance travelled?
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e) What is the average velocity over the 60 s?
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f) Sketch the displacement vs. time graph.
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g) Sketch the acceleration vs. time graph.
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A car starts from rest and accelerates at 2.0 m/s2 for 10 s. It
then stops accelerating and travels at the same velocity for

20 s.
a) What is the total displacement of the car?
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b) Sketch the displacement of the car vs. time.
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c) Sketch the velocity of the car vs. time.
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A car starts from rest at a stop sign. It accelerates at 2 m/s2
to a speed of 50 km/h, then travels at a constant speed and
finally slows down at a rate of —3.5 m/s2 for the next stop
sign.

a) Sketch a qualitative velocity vs. time graph.
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b) If the total driving time is 20 s, what is the distance

travelled between the two stop times? S
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Alan sprints at the end of a bicycle race to clinch victory. He
starts with an initial velocity of 12 m/s and accelerates at a
rate of 0.6 m/s? for 6.5 seconds.

a) What is Alan's final velocity?
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b) Alan continues at this velocity until the finish line. If he
was 291 meters from the finish line when he started
accelerating, how much time did he save by
acceleratlng?
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c) Bert was 10 m ahead of Alan at the time Alan started to
accelerate. Bert was unable to accelerate, maintaining a
constant speed of 12.3 m/s. How much sooner did Alan

finish compared to Bert?
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d) How far ahead was Alan when he crossed the finish

line?
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